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e <jd>_<locationX>_<locationY>_.<orientationX>._<orientationY>¥n

. (M
writer = new PrintWriter (socket.getOutputStream (), true) ;
writer.printin (id + " " + locationX + " " + locationY + " " + orientationX + " " + orientationY) ;

writer.flush () ;

o Z{EH
reader = new BufferedReader (new InputStreamReader (socket.getlnputStream () ) ) ;
line = reader.readLine () ;
tokens = new StringTokenizer (line) ;
id = Integer.parselnt (tokens.nextToken () ) ;
locationX = Double.parseDouble (tokens.nextToken () ) ;
locationY = Double.parseDouble (tokens.nextToken () ) ;
orientationX = Double.parseDouble (tokens.nextToken () ) ;
orientationY = Double.parseDouble (tokens.nextToken () ) ;



class Marker {

;ﬁu long id;
float locationX;

float locationY:;
. — - float orientationX;
- EfETF—2EEERICTS float orientationY;

}
o X(Ef

output = new DataOutputStream (socket.getOutputStream () ) ;
output.writeLong (marker.id) ;
output.writeFloat (marker.locationX) ;
output.writeFloat (marker.locationY) ;
output.writeFloat (marker.orientationX) ;
output.writeFloat (marker.orientationY) ;
output.flush () ;

- SZ(EM
input = new DatalnputStream (socket.getinputStream () ) ;
id = input.readLong () ;
locationX = input.readDouble () ;
locationY = input.readDouble () ;
orientationX = input.readDouble () ;
orientationY = input.readDouble () ;




<l

*iot_l MU BICT =21 X21BHiIAL
<id>, <version>, <I|nkCount> <link>, <link>, <link>, .

o X(El
unsigned char data[1024];
data[0] =
data[1] = version;
data[2] = linkCount;
for (inti = 0:i < linkCount; i++)
data[i + 3] = links [i];
send (socket, data, 3 + linkCount, 0) ;

o SB{EM
unsigned char data[1024];
size = recv (socket, data, 3, 0);
id = data [0];
version = data[1];
linkCount = data[2];
size = recv (socket, data + 3, linkCount, 0) ;
for (inti = 0:i < linkCount; i++)
links [i] = data[i+3];
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